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1’1‘“}4;—:"&(20x 1 = 20 Marks)
SWer ALL Questions
specification of conceptualization.

(B) Implicit and formal
(D) Implicit and informal

1. An ontology is an
(A) Explicit and formal
(C) Explicit and informal

2. Rule based language is incorporated in layer.
(A) Trust T (B) Ontology
(C) Proof (D) Logic
3. provides modelling primitives for writing ontologies.
(A) XML (B) RDF
(C) RDEF-S (D) XML-S
4. is the building block of syntactic web.
(A) XML (B) Ontology
(C) RDF (D) HTML
5. are optional and are used to refer the addressed nodes.
(B) Node test

[
(A) Filter expressions
(D) Preposition

(C) Access specifier
_that apply to some classes only.

6. In RDF schema Wwe cannot declare tos ss¢
(A) Range rcstrictions . (B) Cardinality restrictions
(C) Range extensions —e{ (D) Cardinality extensions

7. Which of the following is not @ requirerient for ontology languages?
(A) Well defined syntaX (B) Efficient reasoning
©) Informal semantics (D) Convenient expressions

8. AnRDF statement iS .
(A) Vocabulary value triple (B) Class object value triple
(D) Object attribute-value triple

©) Entity object triple
9. InOWL ontology, properties equality and inequality can be stated between

(A) Arbitrary things (B) Classes
(C) Arbitrary values (D) Resources
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wics s heen used for formulatiy i

PRI T I .é“’.'u have h“f‘“ used for form “_"‘L& semantics in OWL ontology -
(A) Propositional and discovery (B) Predicate and deseription
(C) Predicate and discovery (1) Propositional and description

in  ontology

10.

11. Laddering and grid analysis can be productively used to
engineering.

(A) Define taxanomy (B) Define propertics
(C) Enumerate terms (D) Check for anomalies
ween language concepts and do not require frequent

contain lexical relations bet

updates.
(B) Web service modeling ontology

(A) Domain ontologies
(C) Ontology instances (D) Natural language ontologies

12.

13, WSDL-Sisan .
(A) Extension of WSDL
(C) Extension of SWSO

(B) Extension of WSMO
(D) Extension of OWL

14. Ontology design in WSMO demands and supports :
(A) Decoupling (B) Encapsulation

(C) Abstraction (D) Cohesion

15. in webservice provides keyword search.
(A) Syntactic level (B) Semantic level
(D) Detailed semantic level

(C) Light semantic level
es state dynamically with time instant.

16. offered by service provider chang
(A) Web service (B) Abstract service
(D) Mobile service

(C) Discovery service

17. The matchmaking between two services inspite of description with different keywords is

called .
(B) Exact matching

(A) Inexact matching
(C) Direct matching (D) Indirect matching

architecture eliminates the need for installing, the matchmaking infrastructure

either on the registry or requestor’s side.
(A) P2P discovery ) Centfalized c{iscovezy
(C) Client server discovery (D) Distributed discovery

18.

addresses the handling of heterogeneities that naturally arise in open

9.
environments like the web.
(A) Description (B) Implementation
(C) Mediation (D) Conceptualization
20. In WSMO, describes the interface for service consumption by a client
(A) Non functional properties (B) Orchestration
(C) Capability (D) Choreography
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PART -B (5 x4 =33 Marks)
Answer ANY FIvg Questions

21. Justify how artificial intelligence can be incorporated in semantic web technology:

72 Sketch the vocabulary differentiating RDF and ppF-schema layers.
23. Enlist the syntactic rules for well-formed XML documents.

24. Define the axiomatic semantics of “inversOf . 9
OWL sub languages.

I ) ) ; e
25. What are the strict notions of upward compatibility between th
; 7 ies?
26. How will you resolve the mismatches between lposely coupled WSM ontolog

27. Write the shortcomings of conventional web service discovery-

PART - C (5 x 12 = 60 Marks)
Answer ALL Questions

28. a. Explain the layered approach of semantic web in detail.

(OR)
b. Elaborate the comparison between fully structured. semi structured and non-structured web

content with reference to suitable properties.

29.ai. Briefly explain the reification mechanism with a suitable illustration.

ii. Compare entity-relationship modelling to RDF.

(OR)
b. Construct an XML schema for structuring E-mail vocabulary to allow an arbitrary number of
texts and attachments.

30. a. Mention the pros and cons of the following antology sub languages.

(i) OWLFULL
(i)  OWL DL
(i) OWL LITE
(iv) OWL DLP

(OR)

b.i. What problem would emerge if

OWL : all values from is replaced by

OWL : Sqme. values from? Illustrate it with suitable axiomatic semantics with reference to
African wildlife ontology. (8 Marks)

il. Why is it necessary to declare?

OWL : class as a subclass of rdfs : class? (4 Marks)
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31.a. Tabulate the comparative analysis op weh
e - . - . . ‘) - . o
representing the semantics in web SCrviceg Prog

; . . (OR
b. Determine the design principles for wep, Serv)ice modeli tol
' ing ontology.

following scenarios.
(1) Importing semantics to UDDj
(11)  External matching services

(OR)
b. Discuss the various levels of conceptual model for service discovery.
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